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Name: __________________________________
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The solution to the equation [image: image1.png]5%+



 is

	1)
	[image: image2.png]




	2)
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If [image: image6.png]14



, where a, b, and c are positive, then t equals

	1)
	[image: image7.png]
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The solution of [image: image11.png]872%% = 5918



, to the nearest thousandth, is

	1)
	0.583

	2)
	1.945

	3)
	4.220

	4)
	14.066
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To the nearest tenth, the solution to the equation [image: image12.png]43002°27 ~ 123

000



 is

	1)
	1.1

	2)
	2.5

	3)
	6.3

	4)
	68.5
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What is the solution to [image: image13.png]8(2°*%) = 43



?

	1)
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Which expression is not a solution to the equation [image: image18.png]2t = W10



?
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	2)
	[image: image20.png]log, /10
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	4)
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Using logarithms, find x, to the nearest hundredth:  [image: image23.png]2%





8
Solve for x to the nearest hundredth.  [image: image24.png]2%

28





9
Solve for x to the nearest hundredth:  [image: image25.png]




10
Using logarithms, solve the equation [image: image26.png]


 for x to the nearest tenth.

11
Solve [image: image27.png]


 algebraically for x, rounded to the nearest hundredth.

12
Solve algebraically for x to the nearest thousandth:  [image: image28.png]20749 _ 15
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